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function EMIL(Q

%UNTITLED2 Summary of this
function goes here

% Detailed explanation goes
here
2A=[-1000:1:1000] ;
ep0=8.85*1e-12;
c0=1/ (4*pi*ep0) ;
e=le-10;

h=0.018;

x=-5:h:5;

y=-5:h:5;
[X,Y]=meshgrid(x,y);
figure (1) ;

[m,n]=size (Q);
disp (m);
for i=1:m

if i==1

V=c0*e*Q(1,1)./sqgrt ((X-

0(1,2)).72+(Y-0(1,3))."2);
else

V=V+c0*e*Q(i,1)./sqart ((X-
0(1,2)).724(Y-0(1,3)).72);
end
end
[Ex,Ey]l=gradient (-V,h);

contour (X(:,:,1),Y(:,:,1),V,A); end
hold on disp(Q);
end
contour (X(:,:,1),Y(:,:,1),V, [~
1:0.05:17);
axis([-5,5,-5,5])
hold on

phi=0:pi/15:2*%pi;% Afapc?;IREyA;

for i=l:m
sx=Q(i,2)+0.005*%cos (phi) ;
sy=0(i,3)+0.005%sin (phi) ;

$streamline (X(:,:,1),Y(:,:,1),Ex
1By, 8%, 8Y);
hold on
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function EM2(R,Q)

SUNTITLED2 Summary of this

function goes here

% Detailed explanation goes

here

SRERLAR

SO A5 B

[m,n]=size (Q);

Q0=zeros (m,3) ;

for i=l:m
a=sqrt (Q(i,2)"2+0(1,3)"2);
Q0 (i,2)=(R"2/a"2) *Q(1,2);
Q0 (i,3)=(R"2/a"2) *Q(i,3);
Q0 (i,1)=-R/a*Q(i,1);

end

EMI1([Q;Q0]) 7
alpha=0:pi/20:2%pi;
x=R*cos (alpha) ;
y=R*sin(alpha);
plot(x,y,'r=");
disp (Q0);

disp(Q);

End
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function EM4(e,m,v1,v2,v3,E,B)
S%HLGT T 51 3RS B B
e=1.6e-19;
m=9.11le-31;
[t,y]=ode45(@ww,[0:0.001:10],[0,
v1,0,v2,0,v3],[],e,m,E,B);
comet3(y(:,1),y(:,3),y(:,5));
plot3(y(:,1),y(:,3),y(:,5));
grid on
function ydot=ww(t,y,e,m,E,B)

e=1.6e-2;

m=0.02;

E1=E(1,1);

E2=E(1,2);

E3=E(1,3);

B1=B(1,1);

B2=B(1,2);

B3=B(1,3);

disp(y(2));

disp(y(4));

disp(y(6));
ydot=[y(2);El*e/m+B3*e*y(4)/m-
B2*e*y(6)/m;y(4);E2%*e/m-
B3*e*y(2)/m+Bl*e*y(6)/m;y(6);E3*
e/m+B2*e*y(2)/m-
Bl*e*y(4)/m]; %0 Eei¢-0-%°1
end
end

« Bl
— EM4(0.016,0.02,0,50,100,[2,2,2],[0,10,0])
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B1=B(1,1)*sin(t)
EM4(0.016,0.02,100,100,100,[0,0,0],[20,0,0])
| T T

o 2
B1=B(1,1)*(sin(t)}+1)
EM4(0.016,0.02,100,100,100,[0,0,0],[20,0,0])

< I3
B1=B(1,1)(sin(t)+1): B2=B(1,2)*(cos(t))
EMA4(0.016,0.02,10,10,10,[0,0,0],[20,20,0])
- M e ) -

N
B1=B(1,1)*
EM4(0.016,0.02,10,10,10,[0,0,0]1,[20,0,0])
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